


REPAIR PARTS

Flue Adapter and Exhaust Assembly

KEY ITEM

# DESCRIPTION QTY. NUMBER

O B gsoner KITORMODELSS0S |1 | ssovuaeas

1 SCREW, 6 X 1/4, SLT, HH 2 HWO06501

Kit 2 36T X 11-22491 INDUCER TEMP SAFETY SWITCH 1 14631303
550002628 3 VENT SWITCH GASKET 1 14631028
Includes 4 FLUE GAS BLOWER WITH VENT PIPE CONNECTOR 1 240009288
5 BLOWER GASKET 1 14631026

16 WASHER, #10 X 2" OD 4 240006203

17 SCREW, 10-24X3" SLT HWH SZN 4 240007745

e B o K oL 10 1| ssoonzes

1 SCREW, 6 X 1/4, SLT, HH 1 HW06501

Kit 2 36T X 11-22491 INDUCER TEMP SAFETY SWITCH 1 14631303
550002699 3 VENT SWITCH GASKET 1 14631028
Includes 4 FLUE GAS BLOWER WITH VENT PIPE CONNECTOR 1 240009791
5 BLOWER GASKET 1 14631026
16 WASHER, #10 X 2" OD 4 240006203
17 SCREW, 10-24X3" SLT HWH SZN 4 240007745

6 FLUE ADAPTER 1 12101021

7* 1/8” NPT 1/4” HOSE ID BRASS BARB FITTING 1 14631005

PC250-12 VINYL CAP 1 14631151

57134 3/4"” SNAP GRIP CLAMP 2 14631141

10 62043 1/2” NPT  x 1/2” ID TUBE ELBOW 1 14631103

11 59019 2" ID " x 1/8" THK VINYL TUBE 22" 14631035

12 3/8" HOSE CLAMP HC-6ST 1 14631143
13 EXHAUST SPACER BUSHING 1/4 ID X 3/8 OD X 7/8 LONG 4 240009284
14 GASKET, EXHAUST SPACER 4 240009583

15 1/4”-20 HEX NUT W/SERRATED WASHER HEAD 4 14695810
*x VENT PIPE 2” CPVC SCH-40 X 292" LONG S636 2 240006820
** VENT PIPE COUPLING 2" CPVC SCH-80 S636 1 240006822
** VENT PIPE ELBOW 2" CPVC SCH 40 S636 1 240009663
*x VENT PIPE 2" CPVC SCH-40 X 2 2" LONG S636 1 240006821

* - Combustion Test Port

** - Not shown



